A/S9/PV.7

/FH0*( L% ;*189<8#3# D#8/ 7-(% E%1+1% - %-
8%0+89&+1% 1+8/+4+@O0%A , #: 2%&% B*(*/%&"-
(+C >11%6<8*#.

— _*/01&"#2" 1$"324"#/% 5"*10,8&262 =</*>Y#%
8-#% 2"*/0*% @<8%"

O$"A*"A%/"&" (T+4+/#, 8+-""/%($9:13#): E,1-
;$5 G55%<*8,) "$58CJ$,3 6.53C78,%&, 7", &-,%3$
K,57C*8&?& S9356%%$.

J/RH0*(L% ;*189<8#3# F+, 14%(% 7-(% G*1-
»91% H+7%* 1+8/+4+@0%A , 4 2%& B*(*/%&" (+C
>11%6<&*#.

O$"4*"AN/"&"  (T+4+/H#, 8+-"'/%($9:13#): 13
&<,%8& 1,%,"$84%91 G55$<*8,& ) &<,= ;,534 7"&-
6,353696$34 6 1"#$%&"$(&& 1*+,-&%,%%./ O$(&1
7", "&-,%3$ K,57C*88?8& S9356$%$ L#9 2",695/9-&-
3,845369 #-%$ X,53C5$ QO#$, & 7"&#B$5834 ,#9 6. -
53C7&34 7,", - G558<*8, 1.

O%$"324"#/ @<8%" (7T+4+/#, 8+-W(7&#C13#):
1-% 2",-5,-$3,84, 7"",B-, 65,#9 ) /93,8 *_ 79"-"$-
6&34 @$5 5 &"*"'$%&,< %$ D393 6.59?&1 7953 6 1,%,-
"$84%91 G55$<*8,, %$ ,, 7)34-,5)3 -,6)391 5,55&&..



A/59/PV.7

3., 3$2&, 7$? 691%$ 6 W"$?,, 53$8& 79<,/91 %$ 7C3&
<,B-CU$"9-%9#9 599*A,536$ ? -953&B,%&= D3&/
(,8,1. @ ","C843$3, D391 691%. 53",<&3,84%9 69'-
9588 (,%. %$ %, F34, ;39 7968,?89 "$ 59*91 5,"4,"-
%., 7958,-536&) -8) <&"9691 D?9%9<&?&, 959*,%%9
-8) C)"6&<91 D?9%9<&?& "$'6&6$=A&/5) 53"$%.

0,5<93") %$ D3& 3"C-%953&, <. 6,"&< 6 ;,89-
6,;,5?C= 698= & 79D39<C 79-7",B%,<C C*,B-,%.,
;39 <,B-C%$"9-%9, 599*A,5369 57959*%9 69789-
3&34 6 B& %4 D3& &-,$8 ..

@ M,?88"$(&& 3.5);,8,38) 7"&'%$,35), ;39
8&768-$(8&) %&A,3. )68),35) "$89#9< 9% 57,;,%&)
C5391;&6949 "$'68&38&), 9-%$?9 %$5,8,%8, <UOHE/
%$J8&/ 53"$% -9 5&/ 79" B&6,3 6 C58968)/ ?"$1%,1
%&A,3 .. 29D39<C 59?"$A, %8, <$5I3$*96 %&A,3. &
6 29%,;%9< &39%, ,, 8&?6&-$(&) 953$=35) %$J,1
7"89"83,3%91 "$-$;,1. 1*+ < OF&(&$84%91 79<9-
A& 6 (,8)/ "$'6838) 7"9-98B$,3 5%&B$345) & 6 ", -
$84%9< &'<,",%&& 9% 5,1;$5 %&B, 5948$596$%%9#9
797$'$3,8) 6 "$'<,”, 0,7 7"9(,%3$ 93 6$8969#0
6%C3", %%, #9 7"9-C?3$. @<,53, 5 3,< ) -98B,% 79-
*8$#9-$"8&34 93-,84%_ , 53"'$% ., 2939" _, 6.798%)=3
7953$68,%%C='$-$;C. ¥%& 7"9-,<9%53"&"96$8&,
;39 D393 797$°$3,84 ", $8,% &



A/S9/PV.7

1-%$79 7",-539&3 ,A, <%9#9, 5-,8%34. S8&B$1J,1
"$-%;,1 7",9-98,%&, %$J,1 %,57959*%953& 9/6%-
3&34 65,/ %CB-$=A&/5) 6 79<9A& 7"94#"$<<91 $%-
3&",3"96&"C5%91 3,"$7&&. 29D39<C 6 -,8, 9?7$"$%&)
%$J&< 8=-)< 569,6",<,%%91 79<9A& %$< & 67",-4
7"&-,35) 798%#$345) %$ 7958,-96$3,84%C= & #3$"$%-
3&"96%$%%C= 79--,"B?C <,B-C%$"9-%9#9 599*A,53-
6$.

29539)%%$)

10



A/59/PV.7

798%9534= &"*$6&345) 93 D399 %, "US=A,#9 #"$%&(
*,-536&), %$< %CB%. 596<,53%.,, *98,, D%,"#&;-
%., & 59#3$596%%% . ,

11





